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ARG : $EEWR
FEEAAR 22€1H3H (B) &AL 9TWRUF JERGRE : RyNIE
fEAI-X: K P Q FRUAR—IL B5RIEh . 1:44FAH
KING DQB®B® =15 230 A
hvk: PARXx2 PRINCE Q©OQ@B3@®® pogi 15 A
QUEEN ©ORGZ®® Y27 0 A HDCP_LIE :
SN&E 245 A Bt 36 % :36>=7:36
|[:1iv SiNEL KING | PRINCE | QUEEN GROSS| HDCP| NET g [[:1ivd 2nE4 KING)/ PRINCE| QUEEN GROSS| HDCP| NET {g= AL Sn&E4 KING | PRINCE | QUEEN GRoss | HDCP| NET {F=
255 | FIE Es 40] 43 83] 13.2/69.8 51 SH RE 50| 50 100| 26.4 |73.6 101 |[FJH K 52| 45 97| 21.6 | 75.4
2 iF B 42| 40 82| 12.0/70.0 52 |7 pEZ 43 51 94| 20.4|73.6 102 |B3X FE 50| 47 97| 21.6 |75.4
3 | K B 45| 43 88| 18.0/70.0 53 | FM & 47| 46 93| 19.2|73.8 103 |[EF #0585 51 40 91| 15.6 |75.4
4 |TE B 39| 40 79| 8.4[70.6 54 B =5 45 48 93| 19.2/73.8 104 |IUAK [F= 44 47 91| 15.6 | 75.4
5 SR IEE 42 41 83| 12.0[71.0 55 &7k 5 41 40 81| 7.2/73.8 105 — = 2 45| 40 85| 9.6|75.4
6 X EXE 38 39 77| 6.0]71.0 56 |KEF IF== 45| 48 93| 19.2/73.8 106 | HHth Si% 39| 46 85| 9.6 75.4
7 EH 6= 41 42 83| 12.0/71.0 57 3 #th 47 40 87| 13.2]73.8 107 | KPP 2284 44| 41 85| 9.6|75.4
8 |”# & 46| 42 88| 16.8 [71.2 58 A F1ZF 48| 50 o8| 24.0 |74.0 108 |$@ith 1IE 42| 48 90| 14.4 |75.6
9 &t o 45 49 94| 22.8(71.2 59 |HEA M 45 41 86| 12.0 |74.0 109 | REF =|fT 41 49 90| 14.4|75.6
10 f8F &= 37 39 76| 4.8][71.2 60 {25 IEEZ 52| 46 08| 24.0 |74.0 110 {h B R 45| 45 90| 14.4|75.6
11 Z[H H— 41 41 82| 10.8|71.2 61 KEF —th 46 46 92| 18.0|74.0 111 [355th 0F 47 49 96| 20.4 |75.6
12 EFE 40| 41 81| 96|71.4 62 | FEH Bia 44| 48 92| 18.0|74.0 12| A/ & 40| 43 83| 7.2/75.8
13 EBLE {8 43| 43 86| 14.4|71.6 63 RF &R 45| 47 92| 18.0|74.0 113 |#EH &FX 42 41 83| 7.2/75.8
14 A2 56| 42 98| 26.4|71.6 64 A 18 46| 45 91| 16.8 [74.2 114 |t J\EE-F 48| 41 89| 13.2(75.8
15 | §gith ¥ 36/ 38 74| 24|71.6|R2J08 65 ik g 45| 46 91| 16.8|74.2 115 [P 15 42 41 83| 7.2/75.8
16 |H[O F=H 45 46 91| 19.2(71.8 66 |_FBF =2 39 46 85| 10.8|74.2 116 | AR BA 45| 50 95| 19.2|75.8
17 A/ =TI 42 43 85 13.2|71.8 67 B &HP 47 50 97| 22.8|74.2 117 | AR ER%S 46| 49 95| 19.2 |75.8
18 | ¥hE¥F FEIE 39 40 79| 7.2|71.8 68 | Z[M =) 37| 42 79| 4.8|74.2 118 |1E[R E A 46| 48 94| 18.0/76.0
19 = {RE 48 48 96| 24.0 |72.0 69 | KPH BN 38 41 79| 48]74.2 119 F1H 5858 44 50 94| 18.0 |76.0
20 HBF HB8 42 48 90| 18.0|72.0 70 (K E F=18 46| 44 90| 15.6 |74.4 120 |FRA {284 53| 53 106| 30.0|76.0
21 [JEEp A8 42| 48 90| 18.0/72.0 71 |HhEF Eid 44| 46 90| 15.6 |74.4 121 3538 a5 44 44 88| 12.0|76.0
22 BEEZ 44| 45 89| 16.8]72.2 72 [{EBH B 42| 42 84| 9.6/(74.4 122 | H F =7 50| 44 94| 18.0|76.0
23 kKR B 40 37 77| 48(72.2 73 [th)l| Fekf 38 40 78| 3.6(74.4 123 | FH= & 40| 42 82| 6.0/76.0
24 bk 3B 46| 49 95| 22.8(72.2 74 |+E BB 43 41 84| 9.6(74.4 124 | RKBF B¥NZ 43 51 94| 18.0|76.0
25 | S EIsh 40| 42 82 96(72.4 75 | BEXK BE 45| 44 89| 14.4 |74.6 125 | 2K HERF 43| 50 93 16.8|76.2
26 | _EH FIi3 38 38 76| 3.6 |72.4 76 | @& 4T 41| 42 83| 8.4|74.6 126 [50]H F& 45| 48 93| 16.8|76.2
27 B =5k 46| 47 93| 20.4(72.6 77 | 1RE BT 50| 51 101| 26.4 |74.6 127 {EH £ 40| 47 87| 10.8]76.2
28 {k4K (& 39| 42 81| 84[72.6 78 | K55 B— 45| 44 89| 14.4|74.6 128 | K@ &= 43 44 87| 10.8]76.2
29 [IUA AF 45 41 86| 13.2 |72.8 79 |2k & 45| 44 89| 14.4 |74.6 129 |[EH {&F 47| 46 93| 16.8 |76.2
30 HiE 8X 46| 46 92| 19.2(72.8 80 %K F5T 41 42 83| 84|74.6 130| FH && 44| 43 87| 10.8(76.2
31 | KBy 52— 47| 45 92| 19.2 |72.8 81 |$gith PAE 40| 49 89| 14.4 |74.6 131 |$H IEM 42| 45 87| 10.876.2
32 [MHE {C 49| 43 92| 19.2(72.8 82 | KBy IFf 46 48 94| 19.2 [74.8 132 |lUA =T 42| 45 87| 10.8[76.2
33 | BN LY 42| 43 85| 12.0 |73.0 83 IPF 5L1T 43 39 82 7.2/74.8 133 |§57K &XXEP 51| 53 104 27.6 |76.4
34 KH BE 46| 45 91| 18.0 |73.0 84 A I§ 44 50 94| 19.2 |74.8 134 |IBX E= 43| 49 92| 156 |76.4
35 |hig 3F— 41 44 85| 12.0/73.0 85 | B3R 43| 45 88| 13.2|74.8 135 |#fH EE 50| 48 98| 21.6 | 76.4
36 {=id fE 42 43 85| 12.0(73.0 86 |HL JEA 43 45 88| 13.2 |74.8 136 | K £ 50| 48 o8| 216 |76.4
37 HH & 45| 46 91| 18.0/73.0 87 Ik =2 42| 40 82| 7.2|74.8 137 | A0 &% 44| 48 92| 15.6 | 76.4
38 [lLO 7 44 41 85| 12.0 [73.0 88 =if B2 47 52 99| 24.0 |75.0 138 ||L|ilEf & 47| 45 92| 15.6 |76.4
39 kH XA 45 51 96| 22.8(73.2 89 Fi= 25— 46| 41 87| 12.0|75.0 139 | K5F A 49| 49 o8| 216 |76.4
40 &R At— 41 43 84| 10.8 73.2 90 X A 54 51 105| 30.0 | 75.0 140 HIg X5 48| 44 92| 156 |76.4
41 |HiR BA— 41 42 83| 9.673.4 91 |FH j&— 51| 54 105| 30.0 | 75.0 141 [§E0O] B) 45| 47 92| 156 |76.4
42 /H —% 35 42 77| 36]73.4 92 |&]JIl BR 50| 61 111] 36.0|75.0 142 |8 E£— 49| 49 98| 21.6 |76.4
a3 [k B 39 44 83| 96/73.4 93 | HA A 51| 48 99| 24.0|75.0 1432 H KX 46| 52 o8| 21.6 76.4
44 |EBER 5— 46| 43 89| 15.6 |73.4 94 HKH BRF 53| 52 105| 30.0 | 75.0 144 /AR FE 49 49 o8| 21.6 |76.4
45 EH g% 42| 41 83| 9.6(73.4 95 {5H R— 42| 45 87| 12.0|75.0 145 A E Hth 42 44 86| 9.6|76.4
46 |#k HEB 46| 48 94| 20.4 |73.6 96 | kA &= 49 43 92| 16.8[75.2 146 | F ¥2 40| 40 80| 3.6/76.4
47 IlUR —= 41 41 82| s84/73.6 97 |FHi= HHI 48 50 o8| 22.8[75.2 147 B =& 51| 47 o8| 216 |76.4
48 |[MH &2 41 35 76| 2.4]73.6 98 {£EF IB= 44| 42 86| 10.8 |75.2 148 | FH 588 45| 46 91| 14.4 |76.6
49 B B 49| 45 94| 204 |73.6 99 |18 {2 41 45 86| 10.8|75.2 149 | A £ 50 53 103| 26.4 | 76.6
50 B 5 42| 46 88| 14.4|73.6 100 HH FEig 44| 42 86| 10.8 |75.2 150 |StB 3¥— 48| 49 97| 20.4|76.6
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FEFEHRAE : 2241838 (B) StEAE ATWRUT NEADRTE @ R NIE
fEAJ-X: K Q FEUR=)L : B5lEhI : 1:4FAH
KING DOQB@®B® B 230 A
Ayk:  PARX2 PRINCE D@3@6O 71 15 A
QUEEN OBG@E® 377 0 A HDCP_LIJE :
& 245 A B 36 36227 :36
[ ivi ShnE&E4 KING | PRINCE | QUEEN GROsSs [HDCP| NET {g= [[:Yiva SnE% KING | PRINCE| QUEEN GROss| HDCP| NET {E= [I:Tiv amnsE4 KING | PRINCE| QUEEN GROSS| HDCP| NET {F=
151 (&)l B5— 52 57 109] 32.4 | 76.6 201 | EH &% 46 51 97| 18.0 |79.0
152 |[EEF 44 48 48 96| 19.2/76.8 202 |#A B 47| 50 97| 18.0/79.0
153 5 BR 50/ 52 102| 25.2(76.8 203 | IBE Y¢REP 55| 54 109/ 30.0 |79.0
154 AEF BN 57| 51 108| 31.2/76.8 204 | #1M Pk 57| 51 108| 28.8|79.2
155 FIl i 47 49 96 19.2|76.8 205 ¥ W 49 59 108| 28.879.2
156 | HBH 5%hK 48 54 102| 25.2/76.8 206 | pX M f2 48| 48 96| 16.8 |79.2
157 |#87K JiE 47 49 96| 19.2 |76.8 207 | B FE 55/ 58 113] 33.6 |79.4
158 gl HE 44| 40 84| 7.2/76.8 208 IfEZk FX 55| 46 101] 21.6 |79.4
159 ¥ HF 48| 53 101| 24.0 | 77.0 209 %R R/ 47 48 95| 15.6 |79.4
160 | Xih F48 48| 47 95| 18.0/77.0 210 | =MW Fid 49| 52 101| 21.6 |79.4
161 B &R 50| 51 101| 24.0|77.0 211 | {4k B 44 50 94| 14.4[79.6
162 R RE 47| 48 95| 18.0|77.0 212 )| = 45 48 93| 13.2/79.8
163 | L& A= 53 47 100| 22.8 [77.2 213 35K HHiT 52| 47 99| 19.2]79.8
164 ;RH B 45| 49 94| 16.8 |77.2 214 | 257 (858 53 45 98| 18.0 |80.0
165 X 4 53| 47 100| 22.8 |77.2 215 FH ¥Rl 56 47 103] 22.8 |80.2
166 B8 Hif 45| 43 88| 10.8 [77.2 216 F L FEE 53 50 103] 22.8[80.2
167 56 fi— 51 49 100 228 77.2 217 &8P EIE 50 51 101] 20.4|80.6
168 XA FlZE 46| 42 88| 10.8[77.2 218 == B8 54| 53 107| 26.4 |80.6
169 /R #hE 45| 49 94| 16.8 |77.2 219 |BiE B 52| 55 107| 26.4 |80.6
170 | AK#l 8= 43| 44 87| 9.677.4 220 @A ZE 51| 43 94| 13.280.8
171 Rk & 50| 49 99| 21.6 |77.4 221 FBB R/A 58| 54 112] 31.2 |80.8
172 R (25 44| 49 93| 156 |77.4 222 HHBH & 50 54 104| 22.8 |81.2
173 | chig Al 47| 46 93| 15.6 |77.4 223 |IF —& 53/ 54 107] 25.2 |81.8
174 I J P §E& 39| 48 87| 96/77.4 224 | &I %8 49| 55 104| 21.6 |82.4
175 AR FEXEP 56 48 104| 26.4 | 77.6 225 |IA& Tf—= 56| 54 110| 27.6 |82.4
176 fREIL BFF 52| 52 104| 26.4 |77.6 226 | 4R $REA 49| 61 110| 27.6 |82.4
177 FTH &— 42 44 86 84|77.6 227 |INS FMZ 52 51 103] 20.4|82.6
178 kM & 51| 53 104| 26.4 |77.6 228 AR §iZ 53| 55 108| 25.2|82.8
179 RBIF &= 54| 50 104| 26.4|77.6 229 AR BF 61| 58 119| 36.0 |83.0
180 i 1= 47| 45 92| 144 |77.6 230 | fPEH FIEP 53 55 108| 24.0 |84.0
181 | LUFF KEP 49| 48 97| 19.2]77.8 231 | b0 k= 58] 62 120| 36.0 |84.0
182 |/\df 1§Th 49 54 103] 25.2/77.8 232 | =Ml BT 56 57 113] 288 |84.2
183 A+ R 47 50 97| 192|77.8 233 B F FlE 52 48 100| 156 |84.4
184 H .t FE 49| 54 103] 252 |77.8 234 jth I EE 60/ 58 118] 33.6 |84.4
185| L FFin 46| 45 91| 13.2(77.8 235 |1H &5 58| 53 111] 26.4 |84.6
186 AK FE= 42| 49 91| 13.2[77.8 236 S5 B8 48| 50 08| 13.2|84.8
187 B FIF 48 54 102| 24.0 | 78.0 237 | BE &YX 611 60 121] 36.0 | 85.0
188 @it 55— 48| 48 96| 18.0 |78.0 238 [P = 54 54 108| 22.8 |85.2
189 | jnlii {22 52| 50 102| 24.0 |78.0 239 ”# ¥BE= 52| 51 103| 156 |87.4
190 @it BRI 43 47 90| 12.0|78.0 240 |IfE T 65 59 124| 36.0 | 88.0
191 A1H AEF 57| 50 107| 28.8|78.2 241 75 Bl 65 60 125/ 36.0 |89.0
192 | =¥ FRE) 51| 50 101| 22.8|78.2 242 | ¥AA JERH 61| 61 122| 32.4|89.6
193 |;57K HF 51| 50 101] 22.8 |78.2 243 | B 4458 57| 55 112| 204 |91.6
194 |{ARE &S 46| 49 95| 16.8]78.2 244 | =& F1F 61/ 68 129] 36.0 |93.0
195 K 5 45 44 89| 10.8|78.2 245 K5 EHfdk 66| 63 129 36.0 |93.0
196 | #iJR SABA 50 51 101] 22.8 78.2
197 | Kh &k 50/ 51 101] 22.8 | 78.2
198 | 53z il 44| 49 93| 14.4 |78.6
199 |1 7=EP 48 50 o8| 19.2 |78.8
200 UK &= 50| 54 104| 25.2 |78.8
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